LE&crore 9 + -+-0§

ErAmPL F

+ o
| $(£) > )
3
3 o ©
4 = o D
0 o) Y
2 o ©°
p = 6 2 |
o} |

™

' WR MmMEARASURE m” {WM-—) AT
TIimE €, WAAT R ESULTS wWicl wEg
FND Awnp wWiTH WHAT P rolApgice7& S

Wice WE Fiwod THigm !




SsTEP | CONSTRVCT OFPRIATIR v
sTEP L FIND en's AND edf's OF
4 0 0
Y4 .
e Vv = 0
0
0 /
P en =2 L |
, ]
-y
eV = ( )
0 ol R
0 (
W HAT ENERLGILES wite Wi I:/Nﬂ?
WHAT MOMENTA wice WE £ing ) 1,3,1
WITlH WHAT PRIBAB L (TR S Wice wé& Feyp

0P ARA T

3/ 4'/ 5,

THEM

bl S




S0, IF WE MEBASURE THE ENEREY:

E=3
A

{4 4) S“/’é)>ll—

ple=3) =
L) (4 (€)D
1 L
4 )(’00)
B . (
- j /4_
L 3 &
o 1§
L
/
P =¢) = (01 ©) ;'
- sl
/ ¢ '
[ L
(001) :
PlE=S) =z 3
~ q
] ¢ Al
CHEC 1t SR L+L;(\/




NOW [ F WE MEASVALE TIHE

MIMENTY M

oo ()]

P(P::L)'—' ! -
/4
(
= [0 11 a
P (p=3) = & ) 13
14
|
et )
P (P‘:I):
Xs
CHECK _f'___ + f_ﬁ:f— ,-—-(-—

Loos b
14 2§
5 25
2§
/
L
[ v




&=23 /
it
| 0
i Bs ¢ S .
¢ 0
V4 */1e
3
Ba¢
A 0
% )

ALWAYS GET SAME EBNgré&Y ey

-,
STAY (N SAmME ENaeS)Y ew



p=t L }
P TrEE [ 10070
0
(4
Pzl
1%
! 0 £23 0 mEACULE
...._.’_:—3—-> ¢ o > (! (nmmebTRCY

: $he l 100% :
5

o waT Timg 4
i

i
[ rHeEnN \_‘ Pt 0
~l




REPGATED MEASUARMENTS wiTd 2EL0 TIME DgcAY

!
&z 3 ! =3 f
g ° —_— 0
S [ /00%0 0
3 4 ‘
4,‘060 >
[#(04) D> [ )
|¥lo0°) >
l =44 o a-%4 °
} 3 ———— ! —_— .
L 0 1007 o
3 T
ox H,

N AN &;:A FHEN MEASVLE NIS0GIATED
/I F ’ |

ev- A/100% oK THE TIiMmg

-l
IF in AN €% 9F P aup You m@ASURE Pop

TUEN IN GARNEGEARAL YoJ witlt NoT STAY

-}
IN en 0F Pyp



|
| A

FoL 28-0 TImMmE pDEAY

SAama THRING Kira P

l P=J3 ( o P23 . (
> ] ' >4 —
x ¥ £ . 100% £
3 ~
l “110‘) 7 l"(o"))

Foaw 2E&m0 TiMmE oAy
wHar £ You MBASURE &, P,&)P, ...

= p=2 { £23
' 5‘3> : i o — o)
z ' ° /0070 0o (00% F
3 e
ONnA.
- {
H AND P SHARLE ), et =2 (G>
0
o,
;)
. $o%
? (‘ 0%,
({ 5:4‘ ° n% <7 >
. ‘ I Y]
: ¢ o /
— "4.

3 e s o) 2
{ §9%
~1

PPYahe (
%

HAND P 00 NOT SHALE 4 4e4 e



|
BE=s
— o
2
‘4

‘
p=3 ! \3
f 6 % & =¢
3 | \"’
Y A 0
i
- |
(g-zx.o TIMmae 054AY)
17 maAsorE P B, PE, ...
SAME TREERS
WHAT NHAPIRNS /£ wa waIr ¢t B8&porné
WE MAKE THE SEcowd g ASo LM ENT |
l s :
£=23 { war £ ‘ ,
" 2 |2 —¥ |1 M"
3 , 3 AOAPTAn . |
MeaaAsvae E 1
[ ¥l(0°) > [¥lo*) > [ (&)
K
l P =3 0 wair £ .
2 > I >
3 f mErsoné P 1
(ﬂ'a'.



a—

TIMmE ZVvowLurioN

POSTUVLATE 4

amas————

(1) &xrand [¥l0) > N &NErLY Bl6 RN BASIS

( I 2 0 . 3
— % = B — Y & t .
m" 3 r;;' 0 W 0 {-'?

-?

en o0F H 088Y TOSE

H l El‘) = &; |8

B lECO = d'ﬁi‘_{z—»]:s;) = E, |&:>

-c8t/y ’
|2, ()> = e | BL (0)
rime BVoLVTION OF ev's 0F H s

VEAY SIMPLil ! onwy ThBIL PHASE CHANFES
(1) Stmecy Weire oowN THE TIME QEIRVIEBNCE !

-.:s;ﬁ/xﬂﬂ a; |E:5

_ostliy, , -ieslE
e — e
e

[$18)> = 2 e

!
Vig

S o



af's
-’
ev ‘s 0F H ALE CALLED STATIINAAY SraTES

es s

ONLY THEIR PUASE VAL &<

mEALVAE ‘
] (AMBLATELY
£=3 | "3‘6/'t\ £23 i .-b-Jél/K
R o ) & — o | €
0 Ll o
. el
I - 36[‘?\ wair ¢ 1 ‘;3,“‘ -uS{A
e — :
o (4
raaN 0 ¢
o MEASIRE,
ALWAY S 8T K=3
ALwaN § N STATE | ¢ 6,
¢ é

©

-l
rImE EVoLVTION 0F eV o H:

¢ 6o -b.?'é/{

¢ 8o ! waiT € !
e 0 —_— 0 e e
0



|

|

TIME ELEVvVowvrion 0oF

«? {
¢ Pzl en = °

OF Pop 0

g0 rs TIME gVowvrioN

-3

ev's oF P

AS THE £=23 ea‘: or U

P:3&;:0ﬁp=_‘__

2

ro FIND
irs rime& gvoevrioN

o

!
¢

2 &23 en 0F Hep

P2l ¢S ¢ Srarvievany
BBCAVSE |P2L> X [BE23D

AND 1828 IS5
IS &¥AcTLY THE

s rarviovasy

SAné&

NO BQuAaL TGé AN eﬁéoﬁlf

So [p=2> s rmE .

QEIENDENT

E4pAND IN eir's oF H

BacAVs e

~imiE &VNOLUTION

”r IN r““‘

rimg

D EparvorncE

! { -0'3‘£/ﬁ
22— 6 | o e

vV o

we | W) D> = ‘p=3> rusN

o\ -ctt/k

& ¢ é

0

WE Kwnow THE

o o‘:

+1 [0]¢©

—

/y



|
|
|

- 0 -o!‘ﬁ/ﬁ
[ ) ¢</% ). >

. 0 -c / '
() e - H =(f)ef'"

WHAT 008S PTHIS LOOK Cl1LE
. 0
1 oty [ O itk
A 0 ]
(o]
[ () 0 {
7 0
TIME - QRPGNOENT PHACE PArcTORS
Im
= otk
..b"ﬁlﬁ e“
&
‘ -ob.v"é ¢=0 ‘
- t Le e Re
e : ;
&= 0 ¢
e & , ¢
4 4
~cSt/H .
S0 AT JSomiE TIME e wie 8 |80
ARBAD o¢F ¢

V7Y 0

- Q
.‘.”4

L X



STaeT (N P23 ¢: oFr ’.’
& IN QATrWAEEN S0 :50

LAaT@A  IN P2l ew o  Pep
AGaIN IV BETWAEN

(e

> ’
gacu (N Pz 3 e OF op
TVET LIk & COVPLEYD pampiLA

IN BRTWEEN, Vit AekE
N A eINGAR  COMEN ATV

0F |&=x4> AND | E25T>





